



The tools to learn. Delivered your way.

Back to School 2017–2018.

Well equipped learners. Choose your way.

\$50

The Athlete's Foot gift card.

Spend \$200 or more and receive a \$50 The Athlete's Foot gift card.*

Offer valid for the first 150 orders placed with a value of \$200 inc GST or more through winc.com.au/backtoschool.

\$20

The Athlete's Foot gift card.

Spend \$100 or more and receive a \$20 The Athlete's Foot gift card.*

Offer valid for the first 750 orders placed with a value of \$100 inc GST or more through winc.com.au/backtoschool.

*Terms and Conditions apply. Promotion commences on 01/10/2017 and closes 28/02/2018.

Visit winc.com.au/backtoschool for full terms and conditions.



The tools to learn. Delivered to your door step.

We believe learning is an exciting experience and that it should be a pleasure, not a chore. To meet all of your educational needs, we have partnered with your school to create a list of products that match the curriculum. The attached list can be ordered through winc.com.au/backtoschool.

Follow the guide below for a simple, easy and secure way to give your child a fresh start to the school year.

School Name:	International Football & Tennis School
School Year:	Kindy
School ID:	368261

Ordering guide.

- Visit winc.com.au/backtoschool
- Click "Sign In" and enter your School ID
- 3. Follow the prompts
- 4. Place your order



Delivery information.

Free delivery on all orders placed on winc.com.au/backtoschool.* If you are unsure if you will be home on the day of delivery please select the Authority to Leave option on the website. See winc.com.au/backtoschool for all terms and conditions and important information about your order.

Returns & product substitutions.

If a product is unavailable at the time of packing, it may be substituted with a similar product of the same or greater value. If you have changed your mind and would like to return your goods, Winc will offer you a credit. Exceptions apply.* Please note that for change of mind returns a restocking or return fee may be charged by Winc.

^{*}Terms and Conditions apply.





2018 Book List

School Name:

International Football & Tennis School

School Year:

Kindy

	PRODUCT	QUANTITY	PRICE (Inc GST)	TOTAL (Inc GST)
	Kindy			
	Olympic Storybook A4 12mm 48 Page Product code: 18644134 Unit: Each	8	\$1.11	\$8.88
MEGASAURUS SERAPPOOT	Olympic Scrap Book Megasaurus Bond 335X245mm 64 Page Product code: 86824709 Unit: Ream	2	\$0.97	\$1.94
<	Faber Castell 116572-HB Pencils Triangular Junior HB Product code: 18904882 Unit: Each	20	\$0.43	\$8.60
Four Corm	Faber Castell Grip Triangle Coloured Pencils Pkt10 Product code: 87010469 Unit: Each	2	\$3.87	\$7.74
	Marbig Pencil Case Tartan Jumbo 340X170mm Product code: 86606142 Unit: Each	1	\$2.86	\$2.86
STAPLES	Staples Eraser PVC-Free Standard Office Each Product code: 27633000 Unit: Each	4	\$0.47	\$1.88

	PRODUCT	QUANTITY	PRICE (Inc GST)	TOTAL (Inc GST)
	Staples Pencil Sharpener Plastic Barrel Canister Double Hole Blue Product code: 10005418 Unit: Each	2	\$0.70	\$1.40
Bestk SLU STIK	Bostik Glu Stik 35G Product code: 86515086 Unit: Each	8	\$1.91	\$15.28
Crayola OUTRI-CIEAN MARKERS 10	Crayola Ultra Clean Classic Washable Broadline Markers Pack Of 10 Product code: 18989232 Unit: Pack	1	\$4.51	\$4.51
	Micador Art Smock Assorted Designs Product code: 18646362 Unit: Each	1	\$9.90	\$9.90
	Kensington Blackbelt 1St Degree Case For Ipad Mini Black Product code: 18994659 Unit: Each	1	\$31.17	\$31.17
		•	Total (Inc GST)	\$94.16